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Example: Factorisation (not the only one!)
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e Def of a and b, is arbitrary as long as it is compensated in do

e Extreme ex: only gluons in the proton, compute Drell-Yan
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/dxlfdxz fa(@y, 1) fo(x1, p?) doay(p®) = o

e Varying the scale simply shuffles terms around

e expansion in coupling makes everything more complicated



4F Scheme: 5F Scheme:
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e LO more complicated e LO and HO easy, but not much info
e possible log problems * no log problems

e exact mass dep * NO mass dep...
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Better for differential observables Better for inclusive ones



4F Scheme: 5F Scheme:
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e |nclusive XS, it does seem like 5F better approximation...

e Can we something on more differential obs?

e \What to do for more complicated procs?



Massive 5F (5FMS):

B+V = _____H




Differences can be huge in some critical regions of phase-space
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Not so much in more inclusive observables (how CKKW merging)
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4F vs 5F scheme a fight on the rise again

Neutral boson + HF seem to prefer the 5F

5F massive scheme to include mass effects

Need further theoretical study...



